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CERTKILL

IBM C9510-052 : Practice Test

Question No : 1

Which three actions can be performed when reviewing a Rational Software Architect model
that has been published to Rational Software Architect Design Manager? (Choose three.)

. annotating a diagram in the published model

. changing the color of a model element that is believed to be incorrect
. initiating an in-line discussion about the structure of a class

. adding a comment concerning the package structure within the model
. creating a copy of the model and modifying the package structure
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Answer: A,C,D

Question No : 2

Which three sources can CLM use for user authentication? (Choose three.)

A. browser

B. LDAP

C. Tomcat User Registry

D. non-LDAP external registry services
E. database server

Answer: B,C,D

Question No : 3

Which artifact containers are pre-populated with existing artifacts by the sample application
for the "Money that Matters" scenario?

A. Requirements Management, Business Process Management, and Quality Management
B. Quality Management, Change & Configuration Management, and Information
Management

C. Change & Configuration Management, Vulnerability Management, and Quality
Management

D. Requirements Management, Change & Configuration Management, and Quality
Management

Answer: D
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Question No : 4

To start the RQM command-line adapter, what must you know? (Choose three.)

A. the jazz repository URL

B. a user ID with the appropriate licenses to log in as an adapter

C. the name of the project area, if it is not the default RQM project area
D. the path to the batch file or shell script to be executed

Answer: AB,C

Question No : 5

What are the team objectives in the "Money that Matters" scenario?

A. expand customer base, reduce liability, and improve customer relations
B. reduce cost, reduce liability, and improve quality

C. reduce cost, improve efficiency, and improve quality

D. improve customer relations, improve efficiency, and reduce liability

Answer: C

Question No : 6

Which three views allow a developer to discover and manage their current work? (Choose
three.)

A. Work Item view with the results from the predefined query Open Assigned to Me
B. Plan view with the current iteration's plan opened in taskboard mode

C. My Work view with the Current Work section opened

D. Team Dashboard view using the My Open Work Items section

Answer: A,C,D
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Question No : 7

Which two application servers are supported for CLM? (Choose two.)

A. Oracle WebLogic

B. WebSphere Application Server
C. Oracle GlassFish

D. Apache Tomcat

E. Microsoft IS

Answer: B,D

Question No : 8

Which statement is true about the Lifecycle Project Administration (LPA) installation?

A. LPA is available only when an LDAP is not being used.

B. LPA is an application and must be registered during CLM setup.

C. LPA is installed only if you activate the LPA license.

D. LPA must be installed on a different server than the Jazz Team Server.

Answer: B

Question No : 9

What are three characteristics of an environment that should usually use a content caching
proxy server? (Choose three.)

A. high volumes of builds

B. poor client performance

C. poor build server performance

D. poor WAN performance

E. high volumes of version control operations

Answer: A,D,E

Question No : 10
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